1/0, do/dg

Ratio to L3

0.8

0.6

0.4

0.2

[EEY

0.5

91

GeV ee
[T T

y*/Z (Hadronic)
IR I B R I

- N spectrum (L3_1992log) ]
— m L3 —
-~ --3-- Herwig 7.1.4 default -
¢ Sherpa 2.2.8 default _
| [ u . _
u
- g B O E ]
— CEATTT e Y SET. |
m e o ¢
| ’,E" ____________ ‘ ....... 1
| IUPTIR S _
g
| | | | | | | | | | | | | | | | | —1 | | |
:I | T T T T | T T T T | T T T T | T T T I:
B = H
e g Y
| ’,El __________ =g @ P _
B Eao 'y |
- 9. h ~~Er” - ® _|

e =In(L/x )

Rivet 3.1.0, = 7.2M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


